

Available online at http://scik.org Commun. Math. Biol. Neurosci. 2019, 2019:10 https://doi.org/10.28919/cmbn/3683 ISSN: 2052-2541

NOTE ON THE STABILITY PROPERTY OF A RATIO-DEPENDENT HOLLING-TANNER MODEL

QIFA LIN*

Department of Mathematics, Ningde Normal University, Ningde, Fujian, 352300, P. R. China

Copyright © 2019 the authors. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. A Holling-Tanner system with ratio-dependence functional response is revisited in this paper. By developing the new analysis technique, two set of new conditions which ensure the global attractivity of the positive equilibrium of the system are obtained. Our results essential improving the main results of Liang and Pan [Qualitative analysis of a ratio-dependent Holling-Tanner model, J. Math. Anal. Appl. 334 (2007) 954-964].

Keywords: ratio-dependence; Holling-Tanner; global attractivity.

2000 Mathematics Subject Classification: 34D23, 92D25, 34D20, 34D40.

1. Introduction

Leslie-Gower type predator-prey system has been extensively investigated during the last decades, see [1]-[20]. Liang and Pan [1] proposed the following ratio-dependent Holling-Tanner

^{*}Corresponding author

E-mail addresses: lqfnd_118@163.com

Received: February 17, 2018

model

$$\frac{dx}{dt} = rx\left(1 - \frac{x}{k}\right) - \frac{mx}{Ay + x}y,$$

$$\frac{dy}{dt} = y\left[s(1 - h\frac{y}{x})\right],$$

$$x(0) > 0, y(0) > 0,$$
(1.1)

where r, k, m, A, s, h are all positive constants. The system is equivalent to the following system

$$\frac{dx}{dt} = x(1-x) - \frac{xy}{ay+x},$$

$$\frac{dy}{dt} = \delta y(\beta - \frac{y}{x}),$$

$$x(0) > 0, y(0) > 0,$$
(1.2)

where $a = \frac{rA}{m}, \delta = \frac{sh}{m}, \beta = \frac{m}{hr}.$

Concerned with the persistent and stability property of the system (1.2), obtained the following results.

Theorem A. If the condition a > 1 holds, then system (1.2) is permanent.

Theorem B.*Assume that the following condition holds:*

$$a\beta + 1 > \max\left\{\beta, \frac{1}{\delta}\right\},\tag{1.3}$$

then the positive equilibrium $E_*(x_*, y_*)$ is globally asymptotically stable in the interior of the first quadrant.

Now let's consider the following example.

Example 1.1.

$$\frac{dx}{dt} = x(1-x) - \frac{xy}{2y+x},
\frac{dy}{dt} = \frac{1}{10}y(\frac{1}{10} - \frac{y}{x}),
x(0) > 0, y(0) > 0.$$
(1.4)

Here, we take $a = 2, \delta = \frac{1}{10}, \beta = \frac{1}{10}$, hence, we have $a\beta + 1 = \frac{1}{5} + 1, \beta = \frac{1}{10}, \frac{1}{\delta} = 10$. therefore,

$$a\beta + 1 < \max\left\{\beta, \frac{1}{\delta}\right\}.$$
(1.5)

That is, condition (1.3) in Theorem B did not holds, however, numeric simulations (Fig. 1) shows that system (1.4) admits a unique globally attractive positive equilibrium $E_*(\frac{11}{12}, \frac{11}{120})$.

Above example shows that it is necessary to revisit the stability property of the positive



FIGURE 1. Dynamic behavior of system (1.4) with the initial condition (x(0), y(0)) = (0.1, 0.1), (0.1, 0.3), (0.1, 0.5), (0.1, 0.01), (1.5, 0.01), (1.5, 0.3) and (1.5, 0.5), respectively.

equilibrium of system (1.2). Indeed, by using a new method which is very different to that of [1], we could establish the following results:

Theorem 1.1. Assume that $a \ge 2$ holds, then the positive equilibrium $E_*(x_*, y_*)$ of (1.2) is globally asymptotically stable in the interior of the first quadrant.

Theorem 1.2. *Assume that* $1 < a \le 2$ *holds, assume further that*

$$a^2\beta - a\beta + a - 2 > 0 \tag{1.6}$$

and

$$a\beta - 1 - \beta > 0 \tag{1.7}$$

hold, then the positive equilibrium $E_*(x_*, y_*)$ of (1.2) is globally asymptotically stable in the interior of the first quadrant.

Remark 1.1. Note that conditions (1.6) and (1.7) are independent of δ , that is, δ has no influence to the stability property of the system, hence, Theorem 1.1 and 1.2 are thoroughly new results, and can be seen as the essential improving the main results of [1], since our results reflect some more essential property of the system (1.2).

Remark 1.2. Theorem 1.1 shows that for almost all of the parameters (only require $a \ge 2$) of the system (1.2), two species could be coexist in a stable state, this seems very interesting, *a* can be seen as the most important parameters in the system. Theorem 1.2 shows that for the case 1 < a < 2, if β is enough large, i. e., the intrinsic growth rate of the predator species is enough large, then two species could also possible coexist in a stable state.

The paper is arranged as follows: In Section 2, some useful Lemmas are established and then we prove the main results in Section 3. In Section 4, two examples together with their numeric simulations are presented to illustrate the feasibility of the main results. We end this paper by a briefly discussion. For more works on Leslie-Gower predator-prey model, one could refer to [1-16] and the references cited therein.

2. Lemmas

Now we state and prove several useful Lemmas.

Lemma 2.1. *Assume that* a > 1*, then system*

$$\frac{dx}{dt} = x \left(1 - x - \frac{B}{x + aB} \right) \tag{2.1}$$

admits a unique positive equilibrium $x^*(B)$ which is globally attractive, where B is some positive constant.

Proof. The positive equilibrium of system (2.1) satisfies the equation

$$1 - x - \frac{B}{x + aB} = 0. (2.2)$$

which is equivalent to

$$x^{2} + (Ba - 1)x + B - Ba = 0.$$
(2.3)

Obviously, under the assumption a > 1, system (2.3) has a unique positive solution

$$x^*(B) = \frac{-(Ba-1) + \sqrt{(Ba-1)^2 - 4B(1-a)}}{2}.$$
 (2.4)

Set $F(x) = 1 - x - \frac{B}{x + aB}$, since $F(0) = r - \frac{c}{d} > 0$ and $F(x^*) = 0$, from the continuity of the function F(x), it follows that

$$F(x) > 0$$
 for all $x \in (0, x^*)$

and

$$F(x) < 0$$
 for all $x \in (x^*, +\infty)$,

and so applying Theorem 2.1 in [2] to system (2.1), one could see that x^* is globally stable, i. e., $\lim_{t \to \pm\infty} x(t) = x^*$. This ends the proof of Lemma 2.1.

Lemma 2.2. Let $x^*(B)$ be defined by (2.4), assume that a > 1 and (1.6) holds, then $x^*(B)$, $B \in [\beta(1-\frac{1}{a}),\beta]$ is a strictly decreasing function of B.

Proof. Since $x^*(B)$ is the positive solution of (2.3). Let's consider the function

$$F(x^*, B) = (x^*)^2 + (Ba - 1)x^* + B - Ba, \ x^* \in (1 - \frac{1}{a}, 1], \ B \in [\beta(1 - \frac{1}{a}), \beta].$$
(2.5)

Noting that

$$\frac{\partial F}{\partial x^*} = Ba + 2x^* - 1 \ge \beta (1 - \frac{1}{a})a + 2(1 - \frac{1}{a}) - 1 = \frac{a^2\beta - a\beta + a - 2}{a} > 0, \tag{2.6}$$

and

$$\frac{\partial F}{\partial B} = ax^* - a + 1 > a(1 - \frac{1}{a}) - a - 1 = 0.$$
(2.7)

Then, it follows from implicit function theorem that

$$\frac{dx^*}{dB} = -\frac{\frac{\partial F}{\partial x^*}}{\frac{\partial F}{\partial B}} < 0.$$
(2.8)

Hence, $x^*(B)$ is the strict decreasing function of *B*. This ends the proof of Lemma 2.2.

Remark 2.1. (1.6) can be rewrite as follows

$$a\beta(a-1)+a-2>0.$$

Obviously, if $a \ge 2$ holds, then above inequality holds, i. e., under the assumption of Theorem 1.1, the conclusion of Lemma 2.2 holds.

Lemma 2.3. Let (x(t), y(t)) be any positive solution of the system (1.2), then

$$\limsup_{t\to+\infty} x(t) \leq 1, \limsup_{t\to+\infty} y(t) \leq \beta.$$

Proof. From the first equation of (1.2) we have

$$\frac{dx}{dt} \le x(1-x),\tag{2.9}$$

and so,

$$\limsup_{t \to +\infty} x(t) \le 1. \tag{2.10}$$

For any $\varepsilon > 0$ enough small, it follows from (2.10) that there exists a T > 0 such that $x(t) < 1 + \varepsilon$. and so, from the second equation of system (1.2), we have

$$\frac{dy}{dt} \le \delta y \left(\beta - \frac{y}{1+\varepsilon}\right),\tag{2.11}$$

thus

$$\limsup_{t \to +\infty} y(t) \le \beta(1+\varepsilon). \tag{2.12}$$

Setting $\varepsilon \to 0$ leads to

$$\limsup_{t \to +\infty} y(t) \le \beta.$$
(2.13)

This ends the proof of Lemma 2.3.

Lemma 2.4. Let (x(t), y(t)) be any positive solution of the system (1.2), Assume that a > 1 holds, then

$$\liminf_{t \to +\infty} x(t) \ge 1 - \frac{1}{a}, \ \liminf_{t \to +\infty} y(t) \ge \beta (1 - \frac{1}{a}).$$

Proof. From the first equation of (1.2) we have

$$\frac{dx}{dt} \ge x \left(1 - x - \frac{1}{a}\right),\tag{2.14}$$

thus

$$\liminf_{t \to +\infty} x(t) \ge 1 - \frac{1}{a}.$$
(2.15)

For any $\varepsilon > 0$ enough small ($\varepsilon < \frac{1}{2}(1 - \frac{1}{a})$), it follows from (2.15) that there exists a $T_1 > T$ such that $x(t) > 1 - \frac{1}{a} - \varepsilon$. and so, from the second equation of system (1.2), we have

$$\frac{dy}{dt} \ge \delta y \left(\beta - \frac{y}{1 - \frac{1}{a} - \varepsilon}\right),\tag{2.16}$$

and so,

$$\liminf_{t \to +\infty} y(t) \ge \beta (1 - \frac{1}{a} - \varepsilon).$$
(2.17)

Setting $\varepsilon \to 0$ leads to

$$\liminf_{t \to +\infty} y(t) \ge \beta (1 - \frac{1}{a}). \tag{2.18}$$

This ends the proof of Lemma 2.4.

3. Proof of the main results

Proof of Theorem 1.1. Let (x(t), y(t)) be any positive solution of system (1.2), let $\varepsilon > 0$ be any positive constant enough small which satisfies

$$\beta \frac{-(a(\beta+\varepsilon)-1)+\sqrt{(a(\beta+\varepsilon)-1)^2-4(1-a)(\beta+\varepsilon)}}{2}-(\beta+1)\varepsilon > 0.$$

It follows from Lemma 2.3 that there exists a T > 0 such that for all $t \ge T$,

$$x(t) < 1 + \varepsilon \stackrel{\text{def}}{=} M_1^{(1)}.$$
 (3.1)

$$y(t) < \beta + \varepsilon \stackrel{\text{def}}{=} M_2^{(1)}. \tag{3.2}$$

(3.2) together with the first equation of (1.2) leads to

$$\dot{x}(t) \ge x \left(1 - x - \frac{M_2^{(1)}}{x + aM_2^{(1)}} \right) \text{ for all } t \ge T.$$
(3.3)

Consider the auxiliary equation

$$\dot{v}(t) = v \left(1 - v - \frac{M_2^{(1)}}{v + a M_2^{(1)}} \right).$$
(3.4)

Since

$$1 - \frac{M_2^{(1)}}{aM_2^{(1)}} = 1 - \frac{1}{a} > 0, \tag{3.5}$$

According to Lemma 2.1, (3.4) admits a unique positive equilibrium

$$v_{11} = \frac{-(aM_2^{(1)} - 1) + \sqrt{(aM_2^{(1)} - 1)^2 - 4(1 - a)M_2^{(1)}}}{2},$$
(3.6)

which is globally attractive. Hence, by using differential inequality theory, there exists a $T_{11} > T$ such that

$$x(t) > v_{11} - \varepsilon \stackrel{\text{def}}{=} m_1^{(1)} > 0 \text{ for all } t \ge T_{11}.$$
 (3.7)

(3.7) together with the second equation of (1.2) leads to

$$\frac{dy}{dt} \ge \delta y \left(\beta - \frac{y}{m_1^{(1)}}\right),\tag{3.8}$$

and so

$$\liminf_{t \to +\infty} y(t) \ge \beta m_1^{(1)}. \tag{3.9}$$

That is, for above $\varepsilon > 0$, there exists a $T_{12} > T_{11}$ such that

$$y(t) > \beta m_1^{(1)} - \varepsilon \stackrel{\text{def}}{=} m_2^{(1)} > 0 \text{ for all } t \ge T_{12}.$$
 (3.10)

It follows from (3.1),(3.2), (3.7) and (3.10) that for all $t \ge T_{12}$,

$$0 < m_1^{(1)} < x(t) < M_1^{(1)}, \ 0 < m_2^{(1)} < y(t) < M_2^{(1)}.$$
(3.11)

(3.11) together with the first equation of (1.2) leads to

$$\dot{x}(t) \le x \left(1 - x - \frac{m_2^{(1)}}{x + a m_2^{(1)}}\right)$$
 for all $t \ge T_{12}$. (3.12)

Consider the auxiliary equation

$$\dot{v} = v \left(1 - v - \frac{m_2^{(1)}}{v + a m_2^{(1)}} \right). \tag{3.13}$$

Since

$$1 - \frac{m_2^{(1)}}{am_2^{(1)}} = 1 - \frac{1}{a} > 0, \tag{3.14}$$

According to Lemma 2.1, equation (3.13) admits a unique positive equilibrium

$$v_{21} = \frac{-(am_2^{(1)} - 1) + \sqrt{(am_2^{(1)} - 1)^2 - 4(1 - a)m_2^{(1)}}}{2},$$
(3.15)

which is globally attractive. Hence, by using differential inequality theory, there exists a $T_{21} > T_{12}$ such that

$$x(t) < v_{21} + \frac{\varepsilon}{2} \stackrel{\text{def}}{=} M_1^{(2)} \text{ for all } t \ge T_{21}.$$
 (3.16)

Since

$$v_{21} = \frac{-(am_2^{(1)} - 1) + \sqrt{(am_2^{(1)} - 1)^2 - 4(1 - a)m_2^{(1)}}}{2}$$

= $\frac{-(am_2^{(1)} - 1) + \sqrt{(am_2^{(1)} + 1)^2 - 4m_2^{(1)}}}{2}$
< $\frac{-(am_2^{(1)} - 1) + \sqrt{(am_2^{(1)} + 1)^2}}{2} = 1,$ (3.17)

it follows from (3.1) and (3.17) that

$$M_1^{(2)} < M_1^{(1)}. (3.18)$$

From (3.18) and the second equation of (1.2), we know that for $t \ge T_{21}$,

$$\frac{dy}{dt} \le \delta y \Big(\beta - \frac{y}{M_1^{(2)}}\Big),\tag{3.19}$$

and so

$$\limsup_{t \to +\infty} y(t) \le \beta M_1^{(2)}.$$
(3.20)

That is, for above $\varepsilon > 0$, there exists a $T_{22} > T_{21}$ such that

$$y(t) < \beta M_1^{(2)} + \frac{\varepsilon}{2} \stackrel{\text{def}}{=} M_2^{(2)} \text{ for all } t \ge T_{22}.$$
 (3.21)

It follows from (3.2), (3.18) and (3.21) that

$$M_2^{(2)} < M_2^{(1)}. (3.22)$$

Substituting (3.22) into the first equation of system (1.2), we obtain

$$\dot{x}(t) \ge x \Big(1 - x - \frac{M_2^{(2)}}{x + aM_2^{(2)}} \Big)$$
 for all $t \ge T_{22}$.

Similarly to the analysis of (3.3)-(3.7), there exists a $T_{23} > T_{22}$ such that

$$x(t) > v_{22} - \frac{\varepsilon}{2} \stackrel{\text{def}}{=} m_1^{(2)} > 0 \text{ for all } t \ge T_{23}.$$
 (3.23)

where

$$v_{22} = \frac{-(aM_2^{(2)} - 1) + \sqrt{(aM_2^{(2)} - 1)^2 - 4(1 - a)M_2^{(2)}}}{2}.$$
 (3.24)

From (3.22) and Lemma 2.2, we have

$$m_1^{(2)} > m_1^{(1)}.$$
 (3.25)

From (3.23) and the second equation of (1.2), we know that for $t \ge T_{23}$,

$$\dot{y}(t) \ge \delta y \Big(\beta - \frac{y}{m_1^{(2)}}\Big),\tag{3.26}$$

thus,

$$\liminf_{t \to +\infty} y(t) \ge \beta m_1^{(2)}. \tag{3.27}$$

That is, for above $\varepsilon > 0$, there exists a $T_{24} > T_{23}$ such that

$$y(t) > \beta m_1^{(2)} - \frac{\varepsilon}{2} \stackrel{\text{def}}{=} m_2^{(2)} \text{ for all } t \ge T_{24}.$$
 (3.28)

From (3.10), (3.25) and (3.28) we have

$$m_2^{(2)} > m_2^{(1)}.$$
 (3.29)

It follows from (3.18),(3.22), (3.25) and (3.29) that for all $t \ge T_{24}$,

$$0 < m_1^{(1)} < m_1^{(2)} < x(t) < M_1^{(2)} < M_1^{(1)}, 0 < m_2^{(1)} < m_2^{(2)} < y(t) < M_2^{(2)} < M_2^{(1)}.$$
(3.30)

Repeating the above procedure, we get four sequences $M_i^{(n)}, m_i^{(n)}, i = 1, 2, n = 1, 2, ...$ such that

$$M_1^{(n)} = v_{n1} + \frac{\varepsilon}{n}, \ m_1^{(n)} = v_{n2} - \frac{\varepsilon}{n},$$
 (3.31)

$$v_{n1} = \frac{-(am_2^{(n-1)} - 1) + \sqrt{(am_2^{(n-1)} - 1)^2 - 4(1 - a)m_2^{(n-1)}}}{2}.$$
 (3.32)

$$v_{n2} = \frac{-(aM_2^{(n)} - 1) + \sqrt{(aM_2^{(n)} - 1)^2 - 4(1 - a)M_2^{(n)}}}{2}.$$
(3.33)

$$\beta m_1^{(n)} - \frac{\varepsilon}{n} = m_2^{(n)}, \ \beta M_1^{(n)} + \frac{\varepsilon}{n} = M_2^{(n)}.$$
(3.34)

Now, we go to show that the sequences $M_i^{(n)}$ is strictly decreasing, and the sequences $m_i^{(n)}$ is strictly increasing for i = 1, 2 by induction. Firstly, from (3.30), we have

$$m_i^{(1)} < m_i^{(2)}, \, M_i^{(2)} < M_i^{(1)}, \, i = 1, 2.$$
 (3.35)

Let us suppose that

$$m_i^{(n-1)} < m_i^{(n)}, \, M_i^{(n)} < M_i^{(n-1)}, \, i = 1, 2.$$
 (3.36)

It then follows from Lemma 2.2, (3.32) and (3.33) that

$$v_{n1} > v_{(n+1)1}.$$
 (3.37)

From (3.31) we have

$$M_1^{(n)} > M_1^{(n+1)}. (3.38)$$

By using (3.38), it follows from (3.34) that

$$M_2^{(n)} > M_2^{(n+1)}. (3.39)$$

It then follows from Lemma 2.2, (3.32) and (3.39) that

$$v_{(n+1)2} > v_{n2}. \tag{3.40}$$

(3.40) and (3.31) show that

$$m_1^{(n+1)} > m_1^{(n)}.$$

From the relationship of $m_1^{(n)}$ and $m_2^{(n)}$, we have

$$m_2^{(n+1)} > m_2^{(n)}.$$
 (3.41)

Therefore, we have

$$\begin{array}{l} 0 < m_1^{(1)} < m_1^{(2)} < \cdots < m_1^{(n)} < x(t) < M_1^{(n)} < \cdots < M_1^{(2)} < M_1^{(1)}, \\ 0 < m_2^{(1)} < m_2^{(2)} < \cdots < m_2^{(n)} < y(t) < M_2^{(n)} < \cdots < M_2^{(2)} < M_2^{(1)}. \end{array}$$

$$(3.42)$$

Hence, the limits of $M_i^{(n)}$ and $m_i^{(n)}$, i = 1, 2, n = 1, 2, ... exist. Denote that

$$\lim_{n \to +\infty} M_1^{(n)} = \overline{x}, \ \lim_{n \to +\infty} m_1^{(n)} = \underline{x}, \ \lim_{n \to +\infty} M_2^{(n)} = \overline{y}, \ \lim_{n \to +\infty} m_2^{(n)} = \underline{y}.$$
 (3.43)

Then $\overline{x} \ge \underline{x}, \overline{y} \ge \underline{y}$. Letting $n \to +\infty$ in (3.31)-(3.34), we obtain

$$\overline{x} = \frac{-(a\underline{y}-1) + \sqrt{(a\underline{y}-1)^2 - 4(1-a)\underline{y}}}{2}.$$

$$\underline{x} = \frac{-(a\overline{y}-1) + \sqrt{(a\overline{y}-1)^2 - 4(1-a)\overline{y}}}{2}.$$

$$\beta \underline{x} = \underline{y}, \ \beta \overline{x} = \overline{y}.$$
(3.44)

(3.44) is equivalent to

$$\overline{x}^{2} + (a\underline{y} - 1)\overline{x} + \underline{y}(1 - a) = 0,$$

$$\underline{x}^{2} + (a\overline{y} - 1)\underline{x} + \overline{y}(1 - a) = 0,$$

$$\beta \underline{x} = y, \ \beta \overline{x} = \overline{y}.$$
(3.45)

Consequently

$$\overline{x}^{2} + (a\beta \underline{x} - 1)\overline{x} + \beta \underline{x}(1 - a) = 0,$$

$$\underline{x}^{2} + (a\beta \overline{x} - 1)\underline{x} + \beta \overline{x}(1 - a) = 0.$$
(3.46)

And so,

$$(\overline{x} - \underline{x})(\overline{x} + \underline{x} - 1 - \beta(1 - a)) = 0.$$
(3.47)

From Lemma 2.4 and $a \ge 2$ we have

$$\bar{x} + \underline{x} - 1 - \beta(1 - a) > 2(1 - \frac{1}{a}) - 1 - \beta(1 - a) \ge \beta(a - 1) > 0.$$

Hence, it follows from (3.47) that

 $\overline{x} = \underline{x}.$

Also, from (3.45) we have

 $\overline{y} = y.$

Under the assumption of Theorem 1.1, system (1.2) admits a unique positive solution (x^*, y^*) , hence $\overline{x} = \underline{x} = x^*, \overline{y} = \underline{y} = y^*$. That is to say,

$$\lim_{t \to +\infty} x(t) = x^*, \ \lim_{t \to +\infty} y(t) = y^*.$$
(3.48)

This ends the proof of the Theorem 1.1.

Proof of Theorem 1.2. Similarly to the proof of Theorem 1.1, we can finally obtain (3.45)-(3.47). Assume that $\bar{x} \neq \underline{x}$, then from (3.47) we have

$$\overline{x} = -\underline{x} + 1 + \beta(1 - a), \tag{3.49}$$

and

$$\underline{x} = 1 + \beta (1 - a) - \overline{x}. \tag{3.50}$$

Substituting (3.49) and (3.50) to (3.46) leads to

$$A_{1}\overline{x}^{2} + A_{2}\overline{x} + A_{3} = 0,$$

$$A_{1}\underline{x}^{2} + A_{2}\underline{x} + A_{3} = 0,$$

(3.51)

12

where

$$A_1 = a\beta - 1,$$

$$A_2 = (a\beta - 1)(a\beta - \beta - 1),$$

$$A_3 = -\beta(a - 1)(a\beta - \beta - 1).$$

And so, \overline{x} and \underline{x} are the positive solution of the equation

$$A_1 x^2 + A_2 x + A_3 = 0. (3.52)$$

From (1.7) one could see that $A_1 > 0$ and $A_3 < 0$. Hence, (3.52) had unique positive solution, this shows that $\overline{x} = \underline{x}$, the rest of the proof is similar to that of the proof of Theorem 1.1, and we omit the detail here. This ends the proof of Theorem 1.2.

4. Numeric example

Now let's consider the following example.

Example 4.1

$$\dot{x}(t) = x \left(1 - x - \frac{y}{x + \frac{3}{2}y} \right),$$

$$\dot{y}(t) = \frac{1}{10} y \left(5 - \frac{y}{x} \right).$$
(4.1)

Corresponding to system (1.2), one has

$$a = \frac{3}{2}, \ \delta = \frac{1}{10}, \ \beta = 5,$$

Again, in this case

$$a\beta + 1 = \frac{17}{2} < \frac{1}{\delta} = 10.$$

Hence, Theorem A in [1] could not be applied to this system. However, one could easily verify

$$a\beta-\beta-1=\frac{3}{2}>0,$$

and

$$a^2\beta - a\beta + a - 2 = \frac{13}{4} > 0.$$

Hence, from Theorem 1.2, system (4.1) admits a unique globally attractive positive equilibrium $(\frac{7}{17}, \frac{35}{17})$. numeric simulations (Fig.2) also support this findings.



FIGURE 2. Dynamic behavior of the solution (x(t), y(t))of system (4.1) with the initial condition (x(0), y(0)) =(0.1, 0.3), (0.4, 4), (0.1, 4), (1, 3), (1, 0.5) and (1, 0.01), respectively.

5. Discussion

In this paper, we revisit the Holling-Tanner system with ratio-dependence, which was proposed by Liang and Pan[1]. By developing some new analysis technique and using the new method, we obtain the sufficient conditions which ensure the global attractivity of the positive equilibrium.

Theorem 1.1 seems very interesting since it shows that for system (1.2), for $a \in [2, +\infty)$, the system always admits a unique positive equilibrium, which is globally attractive. Theorem 1.2 shows that for the case 1 < a < 2, one could still obtain a the conditions which is independent of δ , to ensure the global attractivity of the positive equilibrium.

Authors' Contributions. All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Acknowledgment. This work is supported by the Natural Science Foundation of Fujian Province (2017J01400).

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- Z. Q. Liang, H. W. Pan, Qualitative analysis of a ratio-dependent Holling-Tanner model, J. Math. Anal. Appl. 334 (2007), 954-964.
- [2] L. S. Chen, X. Y. Song, Z. Y. Lu, Mathematical models and methods in Ecology, Shichuan Science and Technology Press, 2002.
- [3] F. Chen, Z. Li, Y. J. Huang, Note on the permanence of a competitive system with infinite delay and feedback controls, Nonlinear Anal., Real World Appl. 8 (2007), 680-687.
- [4] Q. Yue, Dynamics of a modified Leslie-Gower predator-prey model with Holling-type II schemes and a prey refuge, SpringerPlus, 5(1)(2016), Article ID 461.
- [5] F. D. Chen, L. J. Chen and X. D. Xie, On a Leslie-Gower predator-prey model incorporating a prey refuge, Nonlinear Anal., Real World Appl. 10(5)(2009), 2905-2908.
- [6] S. Yu, Global stability of a modified Leslie-Gower model with Beddington-DeAngelis functional response, Adv. Difference Equ. 2014(2014), Article ID 84.
- [7] S. Yu, Global asymptotic stability of a predator-prey model with modified Leslie-Gower and Holling-Type II schemes, Discr. Dyn. Nat. Soc. 2012(2012), Article ID 208167.
- [8] Z. Li, M. Han, F. Chen, Global stability of a a stage-structured predator-prey model with modified Leslie-Gower and Holling-type II schemes, Int. J. Biomath. 5(06)(2012), Article ID 1250057.
- [9] K. Yang, Z. Miao, F. Chen F, et al, Influence of single feedback control variable on an autonomous Holling-II type cooperative system, J. Math. Anal. Appl. 435(1)(2016), 874-888.
- [10] L. J. Chen, F. D. Chen, Global stability of a Leslie-Gower predator-prey model with feedback controls, Appl. Math. Lett. 22(9)(2009), 1330-1334.
- [11] F. D. Chen, J. L. Shi, On a delayed nonautonomous ratio-dependent predator-prey model with Holling type functional response and diffusion, Appl. Math. Comput. 192(2)(2007), 358-369.
- [12] H. B. Shi, W. T. Li, G. Lin, Positive steady states of a diffusive predator-prey system with modified Holling-Tanner functional response, Nonlinear Anal., Real World Appl. 11(5)(2010), 3711-3721.
- [13] R. Peng, Qualitative analysis on a diffusive and ratio-dependent predator-prey model, IMA J. Appl. Math. 78(3)(2013), 566-586.
- [14] Z. Yue, W. Wang, Qualitative analysis of a diffusive ratio-dependent Holling-Tanner predator-prey model with Smith growth, Discr. Dyn. Nat. Soc. 2013(2013), Article ID 267173.
- [15] J. Liu, Z. Zhang, M. Fu, Stability and bifurcation in a delayed Holling-Tanner predator-prey system with ratio-dependent functional response, J. Appl. Math. 2012(2012), Article ID 384293.

- [16] C. Celik, Stability and Hopf Bifurcation in a delayed ratio dependent Holling-Tanner type model, Appl. Math. Comput. 255(2015), 228-237.
- [17] Y. Lin, X. Xie, F. Chen, et al. Convergences of a stage-structured predator-prey model with modified Leslie-Gower and Holling-type II schemes, Adv. Difference Equ. 2016(2016), Article ID 181.
- [18] F. Chen, Y. Wu, Z. Ma, Stability property for the predator-free equilibrium point of predator-prey systems with a class of functional response and prey refuges, Discr. Dyn. Nat. Soc. 2012(2012), Article ID 148942.
- [19] S. B. Yu, F. D. Chen, Almost periodic solution of a modified Leslieu-Gower predator prey model with Holling-type II schemes and mutual interference, Int. J. Biomath. 7(03)(2014), Article ID 1450028.
- [20] X. Xie, Y. Xue, J. Chen, et al, Permanence and global attractivity of a nonautonomous modified Leslie-Gower predator-prey model with Holling-type II schemes and a prey refuge, Adv. Difference Equ. 2016(2016), Article ID 184.